133300000

Years &

% AUSTRALI AN

110.

EXPLOSION PROTECTED CRANE SYSTEMS

ES20 - 2/1 ‘- : ES20 - 4/1

Reeving 2/1 I:I 4/1 I:I 4/2 I:I
Model Number Serial Number
MRC or WLL Year of Manufacture

EC ¢x) GLOBAL

TECHNICAL DATA - ES 20

ECH-IOM-TDS-002_0




k“ INDEX @
Job Ref: SN: Rev: 0

INDEX

1.1. General Dimensions - Model ES20 .3
T, REOVING 2.1 oo e seee e seee s ees e eese e sese e seese s snee s 3
1120 REOVING AT e eeee e ee e seee s seee s ees e seeee e sees e seese s snees e 3
10130 REOVING B2 oo eeee oo eeeee e seee s seee s ees e sees e sess e seese e snees e 3

1.2. Hoisting Data- Model ES20_.. . . .. . .4
1o2.0. R@OVING 2.0 oo e seeeee e eesees e eeeee e esese s seneeee e 4
1.2.2. REOVING A oo seeee e seee e sese s ees e eese e sense s snees e 5
T.2.3. REOVING A2 oo eeee e oo seeee e seee s seee s ees e seesse e sese s sese s seees e 6

1.3. CrossTravel Data - Model ES20. . . . e eeese e ssees e seeeee oo 7
13, REOVING 2.1 oo e eeeee e seee e eeee s see s sses e 7
10302, REOVING AT e eeee oo ee e see e eseee s 7
1.3.30 R@OVING 4u2 oo e oo seeee e e seeee e eseee et seneee e 7

1ud, MO QUE SO NG S e 8

ECH-IOM-TDS-002_0



k“ General Dimensions - Model ES20 C
Job Ref: SN: Rev: 0

1.1. General Dimensions - Model ES20

1.1.1. Reeving 2.1

Grooved Max

Length Mass

[mm] [kg]
12 1128 786 211 120-500 470 520 27
20 1408 1066 351 120-500 750 550 43
30 1768 1426 527 120-500 1110 590 63
1.1.2. Reeving 4.1

6 1128 786 105 120-500 470 533 28
10 1408 1066 176 120-500 750 564 44
15 1768 1426 263 120-500 1110 603 64
1.1.3. Reeving 4.2

Grooved

Length

[mm]
6 1260 487 659 120-500 260x2 539 30
10 1469 1154 799 120-500 400x2 569 46
15 1846 1504 974 120-500 580x2 608 66

ECH-IOM-TDS-002_0




k“ Hoisting Data - Model ES20 C
Job Ref: SN: Rev: 0

1.2. Hoisting Data - Model ES20

1.2.1. Reeving 2.1

Load Speed Rated Current RPM
Capacity (60Hz) Output

[t] [m/min] [Kw] [A] [rev/min]
0.8 2.7/16 3.2/19.2 0.65/4 5.1/4.7 40 480/2970
1 1.3/8 1.6/9.6 0.65/4 5.1/4.7 40 480/2970
1 1.7/10 2/12 0.65/4 5.1/4.7 40 480/2970
1 2.1/12.6 2.5/15.1 0.65/4 5.1/4.7 40 480/2970
1 2.7/16 3.2/19.2 0.65/4 5.1/4.7 40 480/2970
1.25 1.3/8 1.6/9.6 0.65/4 5.1/4.7 40 480/2970
1.25 1.7/10 2/12 0.65/4 5.1/4.7 40 480/2970
1.25 2.1/12.6 2.5/15.1 0.65/4 5.1/4.7 40 480/2970
1.25 2.7/16 3.2/19.2 0.65/4 5.1/4.7 40 480/2970
1.6 1.3/8 1.6/9.6 0.65/4 5.1/4.7 40 480/2970
1.6 1.7/10 2/12 0.65/4 5.1/4.7 40 480/2970
1.6 2.1/12.6 2.5/15.1 0.65/4 5.1/4.7 40 480/2970

ECH-IOM-TDS-002_0



k“ Hoisting Data - Model ES20 C
Job Ref: SN: Rev: 0

1.2.2. Reeving 4.1

Load Speed Rated Current RPM
Capacity (60Hz) Output

[t] [m/min] [Kw] [A] [rev/imin]
1.6 1.3/8 1.6/9.6 0.65/4 5.1/4.7 40 480 /2970
2 0.7/4 0.8/4.8 0.65/ 4 5.1/4.7 40 480 /2970
2 0.8/5 1/6 0.65/4 5.1/4.7 40 480 /2970
2 1.1/6.3 1.3/7.6 0.65/4 5.1/4.7 40 480 / 2970
2 1.3/8 1.6/9.6 0.65/4 5.1/4.7 40 480 /2970
2.5 0.7/4 0.8/4.8 0.65/4 5.1/4.7 40 480 /2970
2.5 0.8/5 1/6 0.65/4 5.1/4.7 40 480 /2970
2.5 1.1/6.3 1.3/7.6 0.65/4 5.1/4.7 40 480/ 2970
2.5 1.3/8 1.6/9.6 0.65/4 5.1/4.7 40 480 /2970
3.2 0.7/4 0.8/4.8 0.65/4 5.1/4.7 40 480 /2970
3.2 0.8/5 1/6 0.65/4 5.1/4.7 40 480 /2970
3.2 1.1/6.3 1.3/7.6 0.65/4 5.1/4.7 40 480 /2970

ECH-IOM-TDS-002_0



k“ Hoisting Data - Model ES20 C
Job Ref: SN: Rev: 0

1.2.3. Reeving 4.2

Load Rated Current RPM
Capacity Output

[t] [Kw] [A] [rev/imin]
0.8 2.7/16 3.2/19.2 0.65/4 5.1/4.7 40 480 /2970
1 1.3/8 1.6/9.6 0.65/4 5.1/4.7 40 480 /2970
1 1.7/10 2/12 0.65/4 5.1/4.7 40 480 /2970
1 2.1/12.6 2.5/15.1 0.65/4 5.1/4.7 40 480/ 2970
1 2.7/16 3.2/19.2 0.65/4 5.1/4.7 40 480 /2970
1.25 1.3/8 1.6/9.6 0.65/4 5.1/4.7 40 480 /2970
1.25 1.7/10 2/12 0.65/4 5.1/4.7 40 480/ 2970
1.25 2.1/12.6 2.5/15.1 0.65/4 5.1/4.7 40 480/ 2970
1.25 2.7/16 3.2/19.2 0.65/4 5.1/4.7 40 480 /2970
1.6 1.3/8 1.6/9.6 0.65/4 5.1/4.7 40 480 /2970
1.6 1.7/10 2/12 0.65/4 5.1/4.7 40 480/ 2970
1.6 2.1/12.6 2.5/15.1 0.65/4 5.1/4.7 40 480 /2970

ECH-IOM-TDS-002_0



k“ Cross Travel Data - Model ES20 C
Job Ref: SN: Rev: 0

1.3. Cross Travel Data - Model ES20

1.3.1. Reeving 2.1

Load Capacity Speed Current RPM
(60Hz)

[t] [m/min] [A] [rev/imin]

0.8/1/1.25/1.6 6 7.2 0.12 0.62 40 1380

0.8/1/1.25/1.6 12 144 0.12 0.62 40 1380

0.8/1/1.25/1.6 2.5/10 3/12.5 0.06/0.30 0.57/1.50 40 670/2850

0.8/1/1.25/1.6 5/20 6/24 0.06/0.30 0.57/1.50 40 670/2850

1.3.2. Reeving 4.1

Load Capacity Speed RPM
(60Hz)

[t] [m/min] [rev/imin]

16/2/25/3.2 6 7.2 0.12 0.62 40 1380

16/2/25/3.2 12 144 0.12 0.62 40 1380

16/2/25/3.2 2.5/10 3/12.5 0.06/0.30 0.57/1.50 40 670/2850

16/2/25/3.2 5/20 6/24 0.06/0.30 0.57/1.50 40 670/2850

1.3.3. Reeving 4.2

Load Capacity Speed Current RPM
(60Hz)

[t] [m/min] [A] [rev/min]

08/1/125/16 |6 7.2 0.12 0.62 40 1380

08/1/125/1.6 |12 14.4 0.12 0.62 40 1380

0.8/1/1.25/1.6 |2.5/10 3/12.5 0.06/0.30 0.57/1.50 40 670/2850

0.8/1/1.25/1.6 |5/20 6/24 0.06/0.30 0.57/1.50 40 670/2850

ECH-IOM-TDS-002_0



k“ Torque Settings ‘
Job Ref: SN: Rev: 0

1.4. Torque Settings

ES Series Hoists Torque Table

Minimum Tensile M6 — M16: 800 12.9 Socket Head
Strength MPa M20-M30: 830 Cap Screw

Nominal Size

and Thread Pitch

M5 x 0.80 6.1 4.6 8.8 6.7 10.3 7.7
M6 x 1.00 10.4 7.8 15 11.2 17.6 13.1
M7 X 1.00 17.6 131 25.1 18.9 29.4 22
M8 X 1.25 25.4 19.1 37.6 27.3 42.6 32.1
M10 X 1.50 50 38 72 54 84 64
M12 X 1.75 88 66 126 94 146 110
M14 X 2.00 141 106 201 150 235 176
M16 X 2.00 218 164 312 233 365 274
M18 X 2.50 301 226 431 323 504 378
M20 X 2.50 426 319 603 457 712 534
M22 X 2.50 580 435 831 624 971 728
M24 X 3.00 736 552 1052 789 1231 923
M27 X 3.00 1079 809 1544 1158 1805 1353
M30 X 3.50 1463 1097 2092 1570 2446 1834
M33 X 3.50 1990 1493 2849 2137 3328 2497
M36 X 4.00 2557 1918 3659 2744 4276 3208

ECH-IOM-TDS-002_0



AdAnRANRRRR

o
~ IS
& 4

.'||' 'y
oY

ES20 - 2/1

ATEXE

www.exproofcranes.com

Perth - Manufacturing
28 Jackson Street
Bassendean WA 6054
Phone: 61 (08) 9279 4800
Fax:  61(08) 9378 3689
perth@eilbeckcranes.com

Perth - Manufacturing
11 Yelland Way
BassendeanWA 6054
Phone: 61 (08) 9379 3724
Fax:  61(08)9378 3689
perth@eilbeckcranes.com

Perth - Manufacturing
14 Yelland Way
Bassendean WA 6054
Phone: 61 (08) 9379 3724
Fax:  61(08)9378 3689
perth@eilbeckcranes.com

ES20 - 4/2

FPAL

empowered by Achilles

Registered

Sydney - Manufacturing
6 Moorlands Road

Ingleburn NSW 2565

Phone: 61 (02) 9829 3700
Fax:  61(02) 9829 3500
sydney@eilbeckcranes.com

Sydney - Machine Shop
53 Lancaster Street
Ingleburn NSW 2565

Phone:  61(02) 9618 1904
Fax:  61(02) 96055171
sydney@eilbeckcranes.com

ES20 - 4/1

NATA

ACCREDITED FOR

TECHNICAL
COMPETENCE

Mackay - Manufacturing
32 Diesel Drive

Paget QLD 4740

Phone:  61(07) 4998 5599
Fax:  61(07)4998 5756
mackay@eilbeckcranes.com

www.eilbeckcranes.com e info@eilbeckcranes.com e T. Eilbeck & Son Pty Ltd T/F The Eilbeck Unit Trust T/A Eilbeck Cranes o ABN: 22 295 128 214 o ACN: 008 973 662



	1.1. General Dimensions - Model ES20
	1.1.1. Reeving 2.1
	1.1.2. Reeving 4.1
	1.1.3. Reeving 4.2

	1.2. Hoisting Data - Model ES20
	1.2.1. Reeving 2.1
	1.2.2. Reeving 4.1
	1.2.3. Reeving 4.2

	1.3. Cross Travel Data - Model ES20
	1.3.1. Reeving 2.1
	1.3.2. Reeving 4.1
	1.3.3. Reeving 4.2

	1.4. Torque Settings


